glven (NOTES: P. 2)

Write the equation of the line in point slope form y — y1 = m(x — x4) usingm =

(1) (0,1)and (1,2) M= _’I:__'_‘__\, =\
V= -
MA-\—\(X -0) of \j—l—‘(’( \3
A
(2) (-3,-1) and (5, -2). m= —=1L- (_l) /.._-
s ~(-3)

(x &)

Y1z "L (xx3) or g*l“L
(3) Through (4,4) and paralleltoy = ;x M = fi_
same M ¥
= 9 &
kj 5| (7'\ ‘-D 4 "}OPPOS‘\*& PQC‘P’P"“ M

(4) Through (3,4) and perpendicularto y = ——x 4
M= 2 5 (w-3

5 g = 2 (x-3)
(5) Through (5,3) with slope=0.

w-3= o(x-5) = “jr'g

Isolate x.
(6) 5=7x—-16
Ho rlb Y= g

2\ A

q—?
(7) 2x—-3=5-x

3% = %
3

;fi%<§%}—17+ﬂ4 @5 < ANE G|
K-+ 1h= 344 \L_,to\

3y = 34+zq—w

@ A5
5 = 3IX=NS
S(x-1)=1x J 425

5Y\-\S = 2R
(10)2x +4 =3
1x3*“
P
A 7L
(11)-2x+4 =3 7 \
G X =3
o ) 1
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Factor the following polynomials. (NOTES: P. 5-6)

(12)x2 —x — 20

(% xHO™ - 5)

(13)x%2 — 10x + 21

(= - +)

(14)x2 + 10x + 16

( %42+ 8D

(15)x2 + 8x — 105

(%15 (K= )

(16)4x% + 11x -3

Q.\\/\ = IR ¥ 3>

(17)-2x2% + 7x + 15 )
Ly (7,-\/\1’ 2 %F \S
A (2 DE-5)
(18)9x2 — 16

CCAREN 1D

(19)3ab? + 12bc

gb(g+HC5
Solve for x by (a) factoring (b) quadratic formula x = el L '2:’:_4“. (NOTES: P. 7)
0)-x2—3r—220 * A K-, "L %= -(REJEHMED - 3 ’JT_/
@i i o~ A B 5
D= (%*D(*"Z) X= 5 S P \/\';?)-\ 2L
(21)2x2+2x—-4=0 r. 4_7';-3 \/\,__,1-3 ’ 3b :—1‘-‘:1_0_
2 - =
2(&%7«-1)3:0 R = ‘7—'“122';‘@( s —".,T"—b 4
2(x —DOE+2=0 2 Sl o -1k - -2
2 X' }T \ * —’H"—

M = \|"L
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Find the value of the trig function below. Answers should be written as a fraction. (NOTES: P. 2)

(22)cosB => a4 ) Cbse

4 3
L P F : )
(23)sinf =) ;_31% SN = ? L_\'L.\, 51 i .
4)tanf = -
(24) =) c’_:%% '\_CV{B - _,

Given f(x) = x* — 3x + 4 and g(x) = x + 1, find the following: (NOTES: P. 4&9)

@@ = ()-3( 34
- q-9+\4 =Y
eor@ 0 (a)= (- -3 (a>+
£(2)= 3%~ 32+
D&l NG (_353‘, 2(-1)+ Y
= APr3btH

[X’Z’_'Zx+q>,\.(x)\’ ')
goap Bl fp 5

(29)f (x) — g () (\ﬁ,\ 3%+q3_()\,\\\\/‘7 \/\1,__1,\)(-—’5

= 4P 2»)4""\ A=

(30)f(x)g(x);( —3%*"%’%‘> s AP A2 L3R Y

2 Q7R RE
31)g(f(x)

3(* “By4 1)

2w Al = XN ST

(28)f (x) + g(x)

)\
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Solve the following system of equations using substitution or elimination. (NOTES: P. 3-4)

g2 s psi S en ®
by~ (—bx*\Q\=€' 4 e ~L (DM
bxtbr-194=5 __|11.+19 ( 21-}3
@f= ot \j—.}
CHIANT) p
=L

—3x+8y=-7 <* ¢\\ s on ¥

(33){—6x +10y = —20
e s
2 ((3r4ty = -F) A ~3x 80

(97\-—\(0\3':\"\ ~FR = ’\g- (g’ )3
8 b XA \Oj::—?O =5
— (ys-—'b\j: i T8 \d = |
(34)[6xx—:§i§z==231]' 'Qy\_\,\ A53=123)
5x+2y+2z=13 : A Z\j 13 \3> l0*+q1 536
4 (rry+e= ) {304 SE -—wat:t;?)ﬁ
@y»\ajﬁl’f%\ \07\“43’«“"%’1 Ty ek
¥ o p-p5x=31
+ L*)k_,r;_}\yu}«? % Q= ‘5:}} P S -
0%+ 3 %239 1o 0
0(2)¥ =39 KR =2
G2x= 1 3+\j-\;\'« 2
= o2 (3,72, )
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Simplify each radical expression. (NOTES: P. 1)

i 9% e /T
(46)/384x3yz2 2RY 2+ v 2 ¥ g

« '\
\ LY 2‘% . Ex=2 \/bx%

1'/\7" = S Y/Cy -
1L(47)2%&% C/ @ H\u_\ {\z‘)L .
?\ 5 D 5' 6*"— <G
1% 3 A b 233
(48)=2VZ + 3VTZ
N SR
(49)2v2% — V12 - V3 . H E
= = R /e -3
ZI@’b—‘\\l\l@;g i3 2 yifm ]
R_

K

(50)VI0(4v5 + V6) = i ZOﬁ 4_.’2")’);:—-
2 x /&S
w50 * [Lo ‘L‘&@ {0

(a) Classify the following function as exponential growth or decay and (b) state the y-intercept. (NOTES: P. 9)

51y =205* Qo «| AQC;\B
ye 2sY= 2 ® ©D
y=e3 (@) be@ v 4o
(ey=ead =1 = (O14)
Simplify the complex numb%m\ (- \3

(53)(3 — 6i)? = (3—%13\(3— BL) =0 AR e L ) 3‘0/;% A
Sl e - BEL - im e LA b

N i - .
(54)(2 — i) — (8-2i) = 2"L“%+/Zt, = -(o-\—(.,

/_\ 1L\ .
(55)i(30)(7 + 8i) 2 (?_\,%L3 Lo R L
s

L (-

- )\'
3/1<§L ;
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state the domain of the functions below using interval notation. (NOTES: P. 8)
E)1h) = x=37 (-9, °o0)

-)

(37) f(0) = 2= X;(S-:‘S? C'OQ|5—>U(€'DO\>

simplify the following expressions. Answers should contain only positive exponents. (NOTES: P. 4)

(38)(§?'_)_2_:c2}_r’2 (O L:)3)0,- 55" olos *133

e

}\\-\

(80)(x~1y*)*

2,333 e
(39)(3x2y?) 53%&9\3 o 7/,41\(9?‘1
ol L
X =
3

2
2xty3
(8122 )} 4
Write each expression in radical form given exponential form or vice versa. (NOTES: P. 4)

e I ¥ I
(43)22 \E-

(44)(¥5)’ 5

g -
At ,—-‘———. | (1 (\B .
£ (:H\\ As 5

1\
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/‘—\ -'\.)
Rationalize the denominator. (NOTES: P. 9) [‘ﬁ g) 4 > 10-¢ L+20 {=1b ,(7—

_——ulu‘
(@L> 25/—20{/-\-19{/'“”({“

(56)2H4 (00 » C:)?Qre' 5

5+4i

I =Dl
2
(57)%-?{:_}-[:2——-: Zﬁ:FL | Y\

4 &3

Find the values below for the given piecewise functions. (NOTES: P. 7)

—18x + 20, Y X= (2
(58)f(12) given f(x) = [_16;”"

= 29
Sl)= (31D £20 = “rikrzl= A

(59)f (1) from the graph below.

.
What is Yy Lhen =L

A

‘ : ’C(\B:’)

(60)f (—4) from the graph below.

T \/\)\(\2’\' 15 \j: \,\SM = = L’f
j .6 MeoN> T Q(’Ll\= z

o MeNS F
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